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General Instructions:

There are total 55 questions in this question paper.

All questions carry equal marks.

Each question carries 0.77 mark.

Question paper is divided into three sections — A, B and C.

Section A has 25 multiple choice questions. Attempt any 20 questions.
Section B has 24 multiple choice questions. Attempt any 20 questions.
Section C has 6 MCQs based on a case study. Attest any 5 questions.
Choose the right answer out of the four options given in each question.

NoabkowhE
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gus -& SECTION - A
g3 - F # 25 W g1 30 WS ¥ foredl 20 weaAl & 3R vl gger 20 weat Fv & FeAiwaT

Q.No. | v Fream)

Section - A consists of 25 questions. Attempt any 20 questions from this section. The
first attempted 20 questions would be evaluated.

Tsh, Rfrcarey, Ao BrT 3§ & fra dast $r 4o 7 s §
F A g
g  IfFdIra et
T UIpided AU

T HHCEdS HETe
Roads, Hospitals, Libraries are example of which of the following resources?
a. Human resources
Individual resources

b
c. Natural resources
d. Community resources
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2. | # O FT W FAA 5 AT RN&T F FegdT F T §

&. facfddi #1 UF dds Ta S IYAFAT Iefed H HGG [Heldl &
. faeafdal &1 3 Ea-Ag 9 9IvoT Jadl Aade giar &

7. faeanfit F Fareew deeh s Jneat & faw g @

H. 3TdR ATIfAS TR W Ig hdd osfhdl & fow & giar &

Which of the following statements is wrong with respect to Home Science Education?

a. Helps the students to become an alert and aware consumer

b. Students are enriched with knowledge of nutrition and good living
c. Good healthy habits are developed in the students

d. It is only for girls at the senior secondary level

3. | 9g AAvad S frelr afead &t 39 afdd & et Jordr &, FI7 Fgoal ¢

®. cIIFdId 9gdrdd
T A ggdie
. AN ggdre
g, HIMcHS Ygdle

What are the attributes of a person that make him/her different from others called?

a. Personal identity

b Social identity

c.  Physical identity

d Emotional identity

4. | 3cAAE TR W HUS W &I S drell T &M A1H Tadsul
e
Selreh

The
ek

Name the printing done on fabric at industrial scale.

a4 4d 3

a. Stencil
b.  Block
c. Screen
d. Roller

5. | fagd &R arell wust S §d & Sl § S0 370 oA fSSs gl 8, AT ol §7?
. «cd (STe)
g, SfSer (e
IO
R gU FUS

An openwork fabric, in which network of yarns formed into intricate designs is called-

a. Nets
b.  Braiding
(o Laces

d. Knitted Fabric
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6. |7 faae vy & el e # @ &l a1 FRR &1 R@evow g7 82

F. SRR

g R

. HAARS ool
g e Beser

Which of the following is not a career option under Home Science?
a. Dietician
b Beautician
c. Interior Decorator
d Fashion Designer

7. | 9T A @ e AT TatreT UishaT 1 9ge] el o2

& fEEe
. HEE
. faferagar
. IGREL
Which of the following is not an aspect of the management process?
a. Planning
b. Organising
C. Interchangeability
d. Controlling
8. | Ta X2l &l g H Sl ST § A XAT 6 Sisel & v 9 118 Al & ot &gl ST gl
a. TH.9Y.37S.
b. AR IS
C. A4S,
d. Tl 41,378,
When fibers are transformed into yarn, the twists are added to hold them together, which are known
as
a. M.P.I.
b. T.P.I
C. Z.P.l.
d. L.P.l.
9. | @A aF A HeY AR ANTSAT F1 Toh Tl ¢ HR ACEHITSAT TCHIVT T IYANT HcTl &,
---------- & ¥T H ST AT gl
ED s ¢¥
£c IR foharcAes Afsar
Cl} I-HFHAT
| A S
A video system that is a combination of computer and video and uses multimedia approach
is known as :
a. Bluetooth
b. Interactive video
C. Teleconferencing
d. Micro computer
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10. | ATTE Sfael &1 fohd 3HTEAT & GRTeT Fag Heed faazor Aqot 3t A gian §, anfer 9 T &1 Jofell 37
q o8 A |
%. Ao @re
g. RS srearaedr
T, HAET Sredraedqr
. e
During which stage of human life, the self-descriptions are in absolute terms, which means they do
not see themselves in comparison with others.
a. Infancy
b. Early childhood
C. Middle childhood
d. Adolescence
11. |l @ urcd Thfass wrishaAr 1 Wear ar saAar-AeRer g @amdr), durR gfear &
farfaf@a & & g gcs &1 Tk 30T g7
a. Jmer
b. wfaqise
c. Heqd
d. daar
The rating or Television Rating Point (TRP) of a television programme received from viewers is an
example of which of the following element of communication process?
a. Receiver
b. Feedback
C. Message
d. Channel
12. | fArAfaf@a & @ Fid @ Fug @Y i § g0 S g ?
. oed
g e
I, Ushfoed
g Tesad
Which of the following fabrics are made directly from fibers?
a. Felts
b Viscose
c. Acrylic
d Spandex
13. | o=t & @ il &7 [aehod orsfhal # FieT aRYeFaar &1 Fae 61 & ?
®.  ANAH T

g. Il 3R SATEr 7 STt St T
I, TareT H Tose gRade
g 3fSRdH gefa i 3y
Which of the following is not an indicator of sexual maturity in girls?
a. Menarche
b.  Growth of axillary hair
C. Marked voice changes
d. Age of maximum growth

2021-22 TERM-I PRACTICE QUESTION PAPER CLASS XI HOME SCIENCE 064 Page 4




14. | SiiaeT 1 ford 31aEdT 3 30 &9 & A<l T &THAT 1 T3 gia o2
N CEa
g, deIdaeEdr
a. fRARTGET
. Glgraear
At what stage of life does the ability to think abstractly develop?
a. Infancy
b Childhood
c. Adolescence
d Adulthood
15. | GAATER $ Hl W= T AU FAT Hgelldl 672
G TH HR 3a
g, FITH
A AT Fr 3af
g, R BT AT
What is a device called to trace the work over time?
a. Peak load period
b. Work curve
C. Rest/break period
d. Work simplification
16. | 3ORUT/FT vl YR & THTEIT T 3GTEI0T 872
%, AW g IRATT
T HE CEECICARED
Motivation / interest is an example of which type of resource?
a. Human b. Non-human
C. Shared d. Natural
17. | AT 39 HARSTA & T Hflcd Fololl S THe Ll & | TRETR T & TR W, Ig fohd TR 1
AR &7
F.  ThRBI IR
g  gRW HIR
A 3d- JAfEFdS TAR
g 3AU-E8T AR
Kavita loves listening to music for her entertainment. Based on interaction, what kind of
communication is it?
a. One way communication
b Two-way communication
C. Inter-personal communication
d Inter-organizational communication
18. foraTeaaeT &1 Far 379 g7

F. ATl & Thiad el
. ASTAT Fr fohareiier Serr
T HY H AT

. fogaor
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What does implementation mean?
a. organizing the resources
b. putting a plan into action
c. dividing activities to achieve
d. controlling

19.

fArafaf@d & & sl a1 faseT gaa dive decdl & 3dad 3ar 82

F. FEEEIed , AT
g. 9T, aar

. AT, Gielot ofaor
g. ferfas, @fas eaor

Which of the following options comes under micronutrients?
a. Carbohydrates, Protein
b. Protein, Fat
c. Fat, Minerals
d. Vitamins, Minerals

20.

ST 39T Siidet T fehdl 7aeAT o GRIeT Tg=iTel & “Hehc ohl ATl Y HEHH LT 572
. AeAThTe
g. IRAS Searaedr
1. feReRTaEeT

Y. HYY dledTd&Aqm
At what stage of life an individual feel “a sense of identity crisis™?
a. Infancy
b. Early childhood
c. Adolescence
d. Middle childhood

21,

foF=T & O 3meffen HuR 7 it A1 ATETH g2
F. Hoqdar

S

. 9

. ANESA BT
g, 97 g
Which of the following is a mode of modern communication?
a. Puppet
b. Posters
c. Mobile phone
d. Magazines

22,

T FHT G o Tl Hod Hgea Ul A1d leT &1 87
# T farga Ao §918
g. B8 & §AT & AU grawne 76 W
. R S B FE f g e
H. Uge depfeus arfafaferar & qur &
Which is the most important tip for effective time management?
a. Make a detailed plan
b. Do not make provision for leisure time
c. Create a simple “To Do” list
d. Complete optional activities first
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23.

HR H "HUIYOT T g SIS & FIT HROT §2
®. e qivor 3R e
g. #fa 9ot 3R Staaa
1. e qivor 3R 3fa grwor
g, W& Sl FHurvor

What are the causes of "double burden of malnutrition" in India?
a. Undernutrition and Blindness
b. Overnutrition and Cretinism
c. Undernutrition and Overnutrition
d. Protein Energy Malnutrition

24.

SIH, AN Sl AT STS-gfedl 3ammer Ueh _ arfdfafer g

F. UTcod/ dHhiedd

g. AAS

. giedigeh

g ¢faw
Making jams, pickles or growing herbs, vegetables will be an activity.

a. Optional

b. Monthly

c. Weekly

d. Daily

25.

o @ "3 WWW' g TAT T TIELT SWHT T 3ETEI0T 87
%. TuAs
. gfadaes
. Jdrgh
T, e ISery

"All India Institute of Medical Sciences" of Delhi, is an example of which level of health care?
a. Primary
b. Secondary
c. Tertiary
d. International

WUs -W SECTION-B
s - @ H 24 WoA §1 39 @3 ¥ fohedl 20 weAl & 3R AUl uget 20 weaAl T & Aot
faram Steem|
Section - B consists of 24 questions. Attempt any 20 questions from this section
The first attempted 20 questions would be evaluated.

26.

"FIELY AR, HTGAcHS AR AANSS & & QU e el g H7 [Fufd & , I§ shae e
37AT 3AFATT & o glel 1 TAfT AT §." Tgell IR Ig g foraar &2 3R 39 &ve fear
e

F. FS.HTHIR., 1928 &

. Sseg, T3, 1948 A

. IS THINR, 1998 H

o Sseg, TU.3M, 1968 A
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‘Health is a state of complete physical, mental and social well-being and not merely the

absence of disease or infirmity.” Who first gave this definition? And when was it given?
a. ICMRin 1928
. WHO in 1948

b
c. ICMR in 1998
d. WHO in 1968

27.

AT @ st & g8 e R gy qur qliRes aifafaftdt & aRade # ST @1 aeleoT
X Fhdl 87

®. Y Tharstt o Y T F AT FET

. YA Hel & AR 9T he b Hell

. R & 3T HaT H WHT HA el

H. H H HERAAT Brell

Suggest to Chitra how she can simplify the work by changing the hand and body movements.

a. Include useless actions in the work
b. To work randomly
c. Work by keeping body in proper posture

d. Inefficiency in work

28.

T & N W Teh G A 39 [9AY TPes-ueiy dsfaw qesr & fow AT fhar| 36 drer
A IR fohar, @el afssrat &1 3y awg @ arr AR @e fear 3R ol & sl s ot
Fc Gu| dsfag A T & T 3d & STeRIET & Sea & Tl o 91 foh g Treir T
UgIeIT, a8 Yatel Uishal & fhd TOT & I 107

&®. Hedichel

g. 3t

a. fagFor

g, FEeade
Raju invited a friend at home to serve him his special grilled-cheese sandwiches. He
prepared fresh mayonnaise, washed and chopped all the vegetables very well and cut fine
slices of paneer too. To set the sandwich, he finally opened the bread box and found that
it was empty. ldentify which step in the management process he missed?

a. Evaluation

b. Organising

c. Controlling

d. Implementing
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29.

fAeTeT wRT -

A. Ted fasrg i, dqg &

B. HisfeT Uq GIvoT i. W |IETOT

C. %93 AR a&= iii. SRHAT FT AT Td I FhAeaT
D. IR g fa¥dRr iv. AT SfiaeT HT FTea

el fased gfav|
& Aiv, B i, Cii, Dii
@. Aiii, Biv, Ci, Dii
a. Aiv, Bii, Ci, Dii
g A, Biii, Cii, D iv
Match the following -

A. Human Development i. Fibre Science
B. Food and Nutrition ii. Food Preservation
C. Fabric and Apparel iii. Planning of the programmes and their implementation
D. Communication and iv. Stages of human life
Extension

Choose the correct option.
Aiv, B i, Cii, D iii
A iii, B'iv, C i, D ii
A iv, B ii, C i, D iii
A i, B iii, Cii, D iv

oo oo

30.

IR ®93 Ff Wem 3R Aear #er Fr aRseor 9fhar &1 a1 Sdse?

F. VTPRISILT
g. helsRar

1. el
q. ARSI

Name the finishing process of straightening and smoothing of the ready fabric.
a. Sanforization
b. Calendering
c. Drycleaning
d. Mercerization

31.

{1 v RATHT &1 98 3T Tho! H Fedl 3R A-TUAT A GGT & TR H SAEweh Aol &
T fFE YR $T TR 9fhar &I 39T T Hhdl 87?2

&. TehaWT HAR

g. JAEaR

. AT dFTFdeh FAR

T, Id.aafFds TOr
Reena is a teacher. What type of communication process can she use to make children and

parents aware about nutrition in her school.?
a. One- way communication
b. Mass Communication
c. Intra-personal communication
d. Inter-personal communication

2021-22 TERM-I PRACTICE QUESTION PAPER CLASS XI HOME SCIENCE 064 Page 9




32.

oot o UeTat &7 el AT & AT g AHRAT FT FH I H TETF gl
i. gEriRad
ii.  aTel 3R wiorar
iii. T 3R FAAF
iv. Wl 3R Tfesar
7Y e g
. i 3R . i 3R
T, i 37 i g i 3R v
Which foods are consumed in small quantities to help in reducing many diseases?

I. Fats and oils
ii. Pulses and legumes
iii.  Sugar and salt
iv.  Fruits and vegetables
Choose the correct option
a. i and ii b. il and iii
C. i and iii d. iand iv

33.

39 39T TSR aReT A JI & fIT DeTedr deA1d gV Pl & foaoet TR R earet &3 2
i. oA e
ii. o&g
iii. fafeaaATar
iv. Helddr
el Aoy giaw
& 3R . i AR
I i AR i g iR v
Which of the following steps will you keep in mind while planning for your annual exam
preparation?
i.  Present situation
i. Goal
iii. Interchangeability
iv. Accessibility
Choose the correct option.
a. iand ii b. iiandiii
C. i and iii d. iandiv

34.

e & Pl & ggaTT & dca g2
i. TI-HehoeUell
i, 3TcH THTGRIRAT
jii.  EAIfRATT
iv. 3TcH YGleattd
e fawew giaw
F. i 3R g. ii 3R iii
. i AR i . i 3 iv
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Which of the following are the elements of identity?
i. Self concept i. Self efficacy

iii. Self-esteem iv. Self promotion
Choose the correct option.

a. iandii b. ii and iii
c. i and iii d. iii and iv
35. | 3 & YT & HAA H YJFd gl dlell FfhAT3T & AT sy
i.  ddr
ji. SPTSeRTOT
iii.  393TeleT
iv. 3
el faser giav)
& i AR @. i 3R i
aT. i 3R v g i 3R v
Name the processes used in the processing of wool fibers.
i. Shearing
ii. Carbonisation
iii. Retting
iv. Ginning
Choose the correct option.
a. iandii b. ii and iii
c. iii and iv d. iand iv
36. | T ITeTd HISTeT HEEY TGl o HROT SIAR @A o9l §| TgaTIv et 3 & hlaT &Y Fenfad e 38
AR gt & ToIT 3TRET 81 Thell 872
i. OIYUT W &1 AT
i. 3fIa AT F ST TgOT FLAT
iii. 37ER & el fashey & ufa fAshRr
iv. 3TER & Ield Gl
e faweq gfaw)
& i 3R . ii 3R i
ar. i AR v .0 3R v

Radha has started falling ill due to wrong food habits. Identify which of the following possible
habits may be responsible for her illness?
i. focusses on nutrition
ii. eating food in proper amount
iii. Attitude towards wrong food choices
iv. ~ wrong combination of food
Choose the correct option.
a. iandii b. ii and iii
c. iii and iv d. iandiv
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37.

R & MR W R A # FAR SfEa R IR 82
i. HeT
ii. =T
iii. A
iv. 3IR- enfsgad
e fasew gfav
& i 3R i . i 3T
ar. i 3R v g i 3R v
In which parts is communication classified on the basis of human senses?
i. Audio
ii. Visual
iii. Verbal
iv. Non-verbal
Choose the correct option.
a. iandii b. i and iii

c. iii and iv d. i and iv

38.

RAT 319e7 dhe quee &l WA Al g1 g A & ezl g & A 38 3 R & aR
# AT S gued T WS H FHfad HT Hehel 67
. W #r RS ghfa
i. SIS T TS Fepict
i QY T TS
iv.  |qd §Er
e faweq gfav)
& i 3R . i 3R i
il AR v . i 3R iv
Riya wants to get her white dupatta dyed. As a Home Science student, tell her about the
factors that can affect the dyeing of dupatta?

i. Chemical nature of fibre

ii.  Chemical nature of dye

iii. Length of fibre

iv. Yarn number

Choose the correct option.

a. iandii b. ii and iii
C. iii and iv d. i and iv

39.

Raw ifefig ary feex 7 Jo YEfaor & feafaf@d ol 7 ¥ Hia & Ageayer 82
i. Solacrarse BEWR
ji. STl TCeR YFaR
iii. AfFT FEA qF e
iv. 37 IRE Beelr
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@ e giaw)
& 0 AR @. i 3N i
i IR v g0 3 v
Which of the following steps in water purification are important in reverse osmosis water
filters?
i. Electrolyte Dispenser
i. Water Sweetener Chamber
iii. Activated Carbon Pre-Filter
iv. Semipermeable Membrane
Choose the correct option.
a. i andii b. ii and iii
c. iii and iv d. ii and iv

40.

AT U 7w Q) Fyat # 3AFYT (A) 3R FROT (R) F T & 3fFa f@Far 1w g

FAFYST (A) - 76 TaAT AT & 31 AT 3N FAST & GATOT & S IREIRe fohansit
T FHSTAT IAT
FROT (R) - 7[5 Ta=A1eT T 38T eTfFd & Sliaed & FYOT il &l faere ieT g
A T v RAwedl & ¥ FEftF 39gFa 3 gvl
%. AR R gl @Er & AR R FEr A gl
g. A 3R R g @gr § ofeheT R TET a1&aT 78T gl
T AT E IR R T B
. A Teld § Wed R T 8
Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- The subject Home Science explains interactions between human beings and
the environment of society
Reason (R) - The aim of Home Science is to develop all aspects of a person's life.
Select the most appropriate answer from the options given below.
a. Both A and R are true and R is the correct explanation.
b. Both A and R are true but R is not the correct explanation.
c. Ais true R is false.
d. A is false but R is true.

41.

A Ru v gy Fy«at F APFUT (A) 3R FROT (R) F & & 3fFa Far w1
FAFYT (A) - - THARTTEAT & SRIT IR & Fo AGHTAS qRINS 3R SAfdes TRact=T g § STt
T 3T e BT B
FROT (R) -ATTd R T [amrd v [ATRad g g7 v H gt g
A R v RFedl # ¥ waifts 39gaFa s F1 99w Hfaw)
# AR R E @ § 3R R @@ e gl
A 3R R gl T8T § afoheT R T8 carear =181 §l
A TE § 3R R Ted g
A Tl § Wed R &I B

a4 4d
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Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- There are certain universal physical and biological changes in the body

during adolescence which have a special order or sequence.
Reason (R) — Human body develops in a certain and uniform pattern.
Select the most appropriate answer from the options given below.

a Both A and R are true and R is the correct explanation.
b Both A and R are true but R is not the correct explanation.
c. Ais true R is false.

d A is false but R is true.

42,

A U v QY Fyat # JAFYT (A) 3R FROT (R) F T & dfFa fBFar w=aw g

AT (A) - ST A FRATTCTT FEA & TRIATT IIod IROTAT I HoATehel A1 A AT
HROT (R) - 18T ST JHTIET &o1 & UIfed & foT T@m=t 7 Ueeed el AaeTS gl

@ e v REed & § waifts sugsa s@ glav

& A 3R R @ € 3R R @Er e gl

T. A 3R R & @@ § afha R T e 761 g

I A TE T IR R I B

. A Jed § Weg R T &

Given below are two statements labeled as Assertion (A) and reason (R)

Assertion (A)- The results obtained after implementing the plan should not be evaluated.
Reason (R) — Management of resources is essential for effective achievement of goals.
Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.
c. As true R is false.

d A is false but R is true.

43.

AT Ru av &y Fu=at F AFFUT (A) 3R FROT (R) F & & fFa frar = g1
HAFYA (A) - TIAR ATAT 7 fFprm Hr a1fa wF ravey W B
FROT (R) - TR ATCIH TS AR T Teh 3UH(FATETA) gl
A T v Fshedl & ¥ FEflF 39gFa s gfav)

%. A 3R R T E IR R T A
@. A 3R R aE @ § Afdd R el sarear @ gl
T ATHE IR R T B
. A Teld § Wed R @8 8
Given below are two statements labeled as Assertion (A) and reason (R)

Assertion (A)- The media has blocked the pace of development.
Reason (R) — Media is a catalyst of national development
Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.
c. A s true R is false..

d A is false but R is true
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44,

HAr R 71w @y Fyat Fr AF{wyaT (A) 3R FROT (R) F & & 3ifra fwar 1w g
HAFUT (A) - T A AT AR HoTH AGHH HAT AR FEELT 1 THET g
HROT (R) - AATISIh FAT ¢l dlel 39T Sedl TUT &R H FehRIcHAS HAMRNSH (ATedel) e H
AT & B

A R av RAeedt & & weifds sugwa s gfav

%. A 3R R aE | § 3R R | e gl

. A 3R R & TE § ofhT R HgT sarear g5 gl

T AT E IR ITAT B

g A Ad § Weg R FET 2
Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- Feeling competent and capable in oneself is an effect of mental health.
Reason (R) Social support measures contribute to positive adjustments (cooperation)
between children and adults.

Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.

c. Ais true R is false.

d A is false but R is true.

45.

A RRu av gy Fyat # AFHHYA (A) 3R FROT (R) & T 7 3ifra BFar w g
HAFUT (A) - HaT H QAT hael Fehfdes FIT GIRT 3Telet] S T Hehell ol
FROT (R) - AT TH1T Sl & 3R TaEYT ardraror §a10 @ H T Fgg aar gl
A R av Reedt & & weifds sugwa s gfav
®. A 3R A& @Er g 3 R TEr I gl
g. A 3R R a=i @@r § ofhd R TET carear S8 gl
I AT g IR R TEA B
. A7 § Wed R AT &l
Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- The lights in the building can only be provided by natural sources.

Reason (R) - - Light illuminates and helps in maintaining hygiene.
Select the most appropriate answer from the options given below.
a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.

C. A is true R is false.

d A is false but R is true.

46.

A Ru av gy Fyat & wFHwYyA (A) 3R FROT ((R) & T F 3ifra fFar aw g
HAFYT (A) - FHUEAT FT GEIAT TG FeT AT AR 3¢ Faffg o g7 e =gl
FROT (R) - T arere dfaa g

A RRu v Redt # F waifts sugsa sw gfav

A 3R R g &€ § 3R R @@ sarer gl

A 3R R g&f TEr § dfehed R TN cam&ar w1gr g

A Egr g 3R R Ted gl

g, A dd § Wed R G 2

A3 d 3
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Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- Resources should not be misused and must not be wasted.
Reason (R) - All resources are limited
Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.
c. Ais true R is false.

d. A is false but R is true.

47.

A U v QY Fyat # JAFYT (A) 3R FROT (R) F T F dfFa @mar m=aw g
HAFYT (A)- 3R FAlAd NATRAT T Gl § 9 g7 AT HIoled T & [S0H Wietelsh FErA
g faegAT g |
FROT (R) - I HUSRUT, HG¥ 3YT, SATFAIN TSl H HAT AT #Holel &l T Gl &
SRS T  AdToleleh GEHASTT Foldd & |

A QU aTT fahedt & @ FaIfts 3uged IR =v|

% A IR R T E AR R AL A F

@. A 3R R gl A& & afeheT R TEI cO1E&aT 87 ¢

T AT Y IRR e g

g, A Tdd § Wed R HE B

Given below are two statements labeled as Assertion (A) and reason (R)

Assertion (A) - Food borne illnesses occur when we consume food that contains disease
causing microorganisms.
Reason (R) - Disease causing microorganisms thrive due to improper storage, contaminated
equipment, lack of personal hygiene or poor ways of preparing or eating food.

Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.

C. A is true R is false.

d. A is false, but R is true.

48.

s U 91T & SyEt Fr fAFUA (A) AR FROT (R) & & F Afohd fohar arm g
Assertion (A)- HFRT # a1 T IRFROT A AT 727§

FROT (R) - a FRA & Aot i g axd g

o fu 1T fashedt & @ Foifdw 3ugFd R giAv|

®. A 3R R g @ § AR R @ e gl

@. A 3R R G A § dAfhd R TEY <AT&dT e g

T AFH g AR R AT B

. A Jed g Weg R T 8

Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- The circulation of air in rooms is considered essential.
Reason (R) - Air controls the temperature of the rooms.
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Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.
C. A is true R is false.

d A is false but R is true.

49. | fRUw 71T ar AT #r AfFFUT (A) IR FROT (R) F F7 & 3ifha fovar = 81
HAFYT (A) - TEA g F [T THT YT Hierel [ ad = ST g
FROT (R) — THTN FHI Tl 1 & HIY-HIL FHIT [IHTH 3R AR & I T Tere L o
drr T v Reedl & @ waifts sy s@ g

%. A IR R 2 TE § 3R R T IrEd g

@. A 3R R =T @@ § afhT R @@y sarear 78 g

T A TE IR R I B

g. A Teld § Wed R T 8l
Given below are two statements labeled as Assertion (A) and reason (R)

Assertion (A)- To succeed, it is necessary to develop time management skills.
Reason (R) -. Effective time management provides opportunities for proper rest, relaxation
and entertainment along with work.
Select the most appropriate answer from the options given below.
a. Both A and R are true and R is the correct explanation.
Both A and R are true but R is not the correct explanation.

b
c. A is true R is false.
d. A is false but R is true.

TS T SECTION C
gs - T A 6 weeT g1 et 5 weaAl F 3 AUl wge 5 weal F € FqeAwar frar Fream
Section - C consists of 6 questions. Attempt any 5 questions from this section
The first attempted 5 questions would be evaluated.

IR RifAs e wea et fean-Adet & anfiees for &1 g RfAs &1 3uer 7 dad 3 Ty &
FARET il § dfeeh HJold 3MER T AT Tl & o FHeg a3l ¢ 3R dehfoush Wie verdl & =ael & giaur
Yeled &Yl gl A &1 ST MUR Ig aarar § 6 @iedlest 998 AT A v S wiitv 3R 4 Faey 3R A
g IR AT &1 30T TR W Gl AR Afeordr 1T g, ST Ig G207ar § o6 Tehleod 8 FH TUAAT § olfhed [T
M & IR A AgcdqOl T W § & § W TR W ared AR wiedm @ 1@y § & qafeh § 6 @ 3R
# afAd Fa & v #Agcaqe’ §, Al 3R g RER & o e ol 9edr # e & 81 a9, ad 3R Fers &
fT Rk X NS4l st & St eeffchy & T gotehr 39iler sgd &a fopam S =g

Food pyramid is the graphic depiction of the daily food guide. Use of food pyramid not only ensures good

health but also helps in planning of balanced diet and facilitates selection of alternate foods. The broad
base at the bottom conveys the message that grains should be abundant and form the foundation of the
healthy diet. Fruits and vegetables at next level, they have a less prominent but still have important place
in diet. At third level from bottom pulses and legumes are placed which shows they are important to add in
diet, meats and milk appear in a smaller band. Near the top fats, oils and sweet occupy the tiny apex.
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50.

HleT | WS ded Foll I HET AT §7?

®. FIEEEIT
. 9T
. Hfcerad
°. fqerfAa
What nutrients is the main source of energy?
a. Carbohydrate
b. Protein
c. Calcium
d. Vitamins
51 | e derer zrse ek 81 o fnelt ot g Seute 1 Wit 3 A1 3T oy A o SRy s
3 T g4, 378 SeaTfe | Iid:hrellel 3MER H foieet & & &l @1 fasheq diAr & AT 3ugera gem?
®. HAFG T
. T gy 3ed
. TR gehiET
H. g Uaddhe
Seema takes vegan diet. She does not use any animal products in food or otherwise such as
g?ev;/f/)buffalo milk, eggs etc. Which of the following option would be suitable for Seema for her morning
a. Butter Toast
b. Soymilk Oats
c. Paneer pakora
d. Honey Pancake
52 | G 3MER & Tea & el AT T ITere "§?
a. fafded yoR & @ 9y arfAar §
b. R.D.A % 3IER I%eh dcd w161 fHeld §
c. HI%eh dcal o TelT GR&TT HTAT STt T &
d. 37T TARELY I 90 3R 90 3@ H A aid ¢
Which statement is incorrect regarding “Balanced diet”?
a. Includes variety of food items
b. Nutrients does not meet according to R.D.A.
c. Provide a safety margin for nutrients
d. Promotes and preserve good health
53 | wer 3R wfesr % THey A §
a. e
b. FEfgEse
c. gdr
d. faofas ik afas
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Fruit and vegetables are rich source of

Protein
Carbohydrates

Fats

. Vitamin and Minerals

oo oo

54

fArfafed & @ e gge A dedl & &9 & gafichc foham aram &2
i wferst verd

iv. faafaa

Y faweq gw

& i 3R . i 3R i
. i 3R v g i3 iv
Which of the following are classified as macronutrients?
i. Carbohydrate

ii. Minerals

iii. Vitamins

iv. Fats

Choose the correct option.

a. iandii b. i and iii
c. i and iv d. i and iv

55

AT U v QY Fyat # 3AAFYT (A) 3 FROT (R) F T & 3fFa fBmar 1w g
IHPFYT (A) - 3ER AT & TAF @Us & AHR Ids fed WIAT S areir fAuiRa amr @fdsa) &
g1 gl
FRUT (R)- $H & GaRT ATHRERI AN & [T IR ATl Teldl & dIR AT ST Fohall gl
A T aT RFFedl & @ wafs 39gFa s &1 99T Hfw
A 3R R g4t ¥&r g 3R R &g e gl
A 3R R g4t ¥&r & 3R R &@gr carear «igT gl
A & g 3R R IreId gl
A TTed § Wed R #E §
Given below are two statements labeled as Assertion (A) and reason (R)

a4 4d 3

Assertion (A)- The size of each section of food pyramid represents the prescribed
quantity (servings) served every day.

Reason (R) -Diet planning for vegetarians can be easily prepared by this.

Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b. Both A and R are true but R is not the correct explanation.

c. A s true R is false.

d. A is false but R is true
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